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Question Bank 
ECONOMICS 

 

UNIT-VI (Money and Banking) 
 

dFku&dkj.k (Assertion-Reason) (01 Mark) 
 

Answer Options (उƣर ͪवकãप( (for all questions) 
(A) Both A and R are true, and R is the correct explanation of A.  

      A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया है। 
(B) Both A and R are true, but R is not the correct explanation of A. 

       A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं है। 
(C) A is true, but R is false. 

      A सहȣ है, लेͩ कन R गलत है। 
(D) A is false, but R is true. 

               A गलत है, लेͩ कन R सहȣ है।  

 

1. Assertion (A): Money acts as a medium of exchange, unit of account, store of value, and standard 
of deferred payment. 

कथन (A): मुġा ͪवǓनमय का माÚयम, मूãय मापक, मूãय संͬचत करने का साधन एवं èथͬगत 
भुगतान का मानक होती है। 
Reason (R): Without money, the barter system would still be the most efficient way of 
conducting transactions. 

कारण (R): यǑद मुġा न हो, तो वèतु ͪवǓनमय Ĥणालȣ अब भी लेन-देन का सबसे कुशल तरȣका 
होता। 

 
2. Assertion (A): The supply of money includes currency held by the public and net demand 

deposits held by commercial banks. 

कथन (A): मुġा कȧ आपूǓत [ मɅ साव[जǓनक धाǐरत मुġा और वाͨणिÏयक बɇकɉ मɅ शुɮध मांग जमा 
शाͧमल होती है। 
Reason (R): The Reserve Bank of India (RBI) directly controls the supply of money in the 
economy. 

कारण (R): भारतीय ǐरज़व[ बɇक (RBI) सीधे हȣ अथ[åयवèथा मɅ मुġा आपूǓत [ को Ǔनयंǒğत करता 
है। 

 
3. Assertion (A): Commercial banks create money through the process of credit creation. 

कथन (A): वाͨणिÏयक बɇक साख Ǔनमा[ण कȧ ĤͩĐया ɮवारा मुġा Ǔनमा[ण करते हɇ। 
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Reason (R): A bank can lend unlimited amounts of money without any constraints. 

कारण (R): बɇक असीͧमत माğा मɅ धन उधार दे सकते हɇ, इस पर कोई ĤǓतबंध नहȣं है। 
 

4 Assertion (A): The Reserve Bank of India acts as the sole authority in issuing currency notes 
except for the one-rupee note and coins. 

कथन (A): भारतीय ǐरज़व[ बɇक एकमाğ संèथा है जो एक ǽपये के नोट और ͧसÈकɉ के 
अǓतǐरÈत शषे सभी मुġा नोट जारȣ करती है, । 
Reason (R): This helps in maintaining uniformity and controlling inflation in the economy. 

कारण (R): इससे अथ[åयवèथा मɅ एकǾपता बनी रहती है और मुġाèफȧǓत Ǔनयंǒğत रहती है। 
 

5. Assertion (A): When the Reserve Bank increases the Cash Reserve Ratio (CRR), commercial 
banks have less money to lend. 

कथन (A): जब भारतीय ǐरज़व[ बɇक नकद आरͯ¢त अनुपात (CRR) बढ़ाता है, तो वाͨणिÏयक 
बɇकɉ के पास उधार देने के ͧलए कम मुġा होती है। 
Reason (R): A higher CRR reduces the money supply in the economy, leading to a decrease in 
inflationary pressures. 

कारण (R): उÍच CRR अथ[åयवèथा मɅ मुġा आपूǓत [ को कम करता है, िजसस ेèफȧǓतक दबाव मɅ 
कमी आती है। 

 
6. Assertion (A): The RBI sells government securities in the open market to increase money 

supply. 

कथन (A): RBI खुले बाजार मɅ सरकारȣ ĤǓतभǓूतयाँ बेचता है ताͩक मुġा आपूǓत [ बढ़ सके। 
Reason (R): Selling securities reduces liquidity in the banking system, thereby controlling 
inflation. 

कारण (R): ĤǓतभǓूतयाँ बचेने से बɇͩ कंग Ĥणालȣ मɅ तरलता घटती है, िजसस ेमुġाèफȧǓत Ǔनयंǒğत 
होती है। 

 
7. Assertion (A):The reduction in the repo rate increases credit  in the economy.  

कथन (Assertion):रेपो दर मɅ कमी से अथ[åयवèथा मɅ ऋण Ĥवाह बढ़ता है। 
Reason (R): A lower repo rate reduces the cost of borrowing for banks, which increases their capacity to 

build credit. 

कारण (Reason):कम रेपो दर से बɇकɉ के ͧलए उधार लेने कȧ लागत घटती है, िजसस ेउनकȧ 
साख Ǔनमा[ण कȧ ¢मता बड़ जाती है। 

 

 
8. Assertion (A): Demand deposits in commercial banks are a part of the money supply. 

कथन (A): वाͨणिÏयक बɇकɉ मɅ मांग जमा मुġा आपूǓत [ का एक भाग होती है। 
Reason (R): These deposits can be withdrawn at any time and are widely accepted as a means of 
payment. 
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कारण (R): इन जमाओं को ͩकसी भी समय Ǔनकाला जा सकता है और यह भुगतान का एक 
èवीकृत माÚयम है। 

 
9  Assertion (A): An increase in money supply always leads to inflation. 

कथन (A): मुġा आपूǓत [ मɅ वɮृͬध हमेशा मुġाèफȧǓत को जÛम देती है। 
Reason (R): Inflation occurs only when aggregate demand exceeds aggregate supply. 

कारण (R): मुġाèफȧǓत तब होती है जब समĒ मागँ, समĒ आपूǓत [ से अͬधक होती है। 
 

10. Assertion (A): RBI increases the bank rate to control inflation. 

कथन (A): RBI मुġाèफȧǓत को Ǔनयंǒğत करने के ͧलए बɇक दर बढ़ाता है। 
Reason (R): A higher bank rate makes borrowing costlier, reducing money supply and demand 
in the economy. 

कारण (R): अͬधक बɇक दर से उधार लेना महंगा हो जाता है, िजसस ेमुġा आपूǓत [ और माँग 
घटती है। 

 
11. Assertion (A): The rise of digital payment systems has impacted the money supply. 

कथन (A): ͫडिजटल भुगतान Ĥणाͧलयɉ के बढ़ने स ेमुġा आपूǓत [ Ĥभाͪवत हुई है। 
Reason (R): Digital payments increase the demand for cash in the economy. 

कारण (R): ͫडिजटल भुगतान अथ[åयवèथा मɅ नकदȣ कȧ मांग को बढ़ाते हɇ। 
 

12. Assertion (A): Financial inclusion helps in expanding the formal money supply in the economy. 

कथन (A): ͪवƣीय समावेशन अथ[åयवèथा मɅ औपचाǐरक मुġा आपूǓत [ को बढ़ाने मɅ सहायक होता 
है। 

Reason (R): More people having access to banking services increases deposits in commercial 
banks. 

कारण (R): अͬधक लोगɉ को बɇͩ कंग सवेाओं कȧ पहँुच होने से वाͨणिÏयक बɇकɉ मɅ जमा राͧश 
बढ़ती है। 

 
 
 

fuf”pr mRRkjh; iz”u (One word/definite answer questions (01 Mark) 
 

 
1. Which function of money eliminates the need for double coincidence of wants in a barter 

system? 

पैसे का कौन सा काय[ वèतु ͪवǓनमय Ĥणालȣ मɅ दोहरे संयोग कȧ आवæयकता को समाÜत करता 
है? 

2. What type of money has no intrinsic value but is accepted by law? 

ऐसी कौन सी मुġा होती है िजसका कोई आंतǐरक मूãय नहȣं होता है, लेͩकन इसे कानूनी 
माÛयता ĤाÜत होती है? 
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3. What is the primary measure of money supply in India, which includes currency with the public 
and demand deposits of banks? 

भारत मɅ मुġा आपूǓत [ का Ĥाथͧमक मापदंड कौन सा है, िजसमɅ जनता के पास कȧ मुġा और 
बɇकɉ कȧ मांग जमा शाͧमल होती है? 

4. Which component of money supply consists of cash reserves held by commercial banks? 

मुġा आपूǓत [ का कौन सा घटक वाͨणिÏयक बɇकɉ ɮवारा रखी गई नकद आरͯ¢त राͧश से 
संबंͬधत होता है? 

5. What is the name of the process by which commercial banks create money through lending? 

वाͨणिÏयक बɇक ͩकस ĤͩĐया के माÚयम से ऋण Ĥदान करके मुġा का सजृन करते हɇ? 
6. Which banking system allows the creation of money beyond the initial deposits? 

कौन सी बɇͩ कंग Ĥणालȣ Ĥारंͧभक जमा से अͬधक मुġा Ǔनमा[ण कȧ अनुमǓत देती है? 
7. If the Reserve Ratio is increased by the central bank, what will be the effect on money supply? 

(Increase/Decrease) 

यǑद कɅ ġȣय बɇक ɮवारा आरͯ¢त अनुपात बढ़ा Ǒदया जाए, तो मġुा आपूǓत [ पर Èया Ĥभाव पड़गेा? 

(बढ़ेगा/घटेगा) 
8. Which function of the central bank allows it to regulate the entire banking system? 

कɅ ġȣय बɇक का कौन सा काय[ इसे पूरे बɇͩ कंग Ĥणालȣ को Ǔनयंǒğत करने कȧ अनुमǓत देता है? 
9. Which term is used for the central bank’s role as the last lender in case of a financial crisis? 

ͪवƣीय संकट कȧ िèथǓत मɅ कɅ ġȣय बɇक कȧ अंǓतम ऋणदाता कȧ भूͧमका को ͩकस नाम से जाना 
जाता है? 

10. What is the name of the rate at which RBI lends to commercial banks for short-term liquidity 
needs? 

वह दर Èया कहलाती है िजस पर भारतीय ǐरज़व[ बɇक वाͨणिÏयक बɇकɉ को अãपकाͧलक तरलता 
कȧ आवæयकताओं के ͧलए ऋण देता है? 

11. Which instrument of credit control is directly used by the central bank to buy and sell 
government securities in the open market? 

कɅ ġȣय बɇक ɮवारा खुले बाजार मɅ सरकारȣ ĤǓतभǓूतयɉ को खरȣदने और बेचने के ͧलए सीधे 
उपयोग ͩकए जाने वाले साख Ǔनयंğण उपकरण का नाम Èया है? 

12. Which monetary policy instrument requires commercial banks to keep a certain percentage of 
their net demand and time liabilities as reserves with RBI? 

कौन सा मौǑġक नीǓत साधन वाͨणिÏयक बɇकɉ को अपनी शुɮध मांग और समय देनदाǐरयɉ का 
एक Ǔनिæचत ĤǓतशत आरͯ¢त के Ǿप मɅ आरबीआई के पास रखने के ͧलए आवæयक बनाता है? 

13. Which rate is higher, Repo Rate or Reverse Repo Rate? 

कौन सी दर अͬधक होती है, रेपो दर या ǐरवस[ रेपो दर? 
14. Which tool of monetary policy is used by the central bank to absorb excess liquidity from the 

banking system? 

मौǑġक नीǓत का कौन सा उपकरण कɅ ġȣय बɇक ɮवारा बɇͩ कंग Ĥणालȣ से अǓतǐरÈत तरलता को 
अवशोͪषत करने के ͧलए उपयोग ͩकया जाता है? 
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15. If RBI reduces the CRR, what will be its impact on the credit creation ability of banks?  

यǑद आरबीआई सीआरआर को घटाता है, तो बɇकɉ कȧ साख Ǔनमा[ण ¢मता पर Èया Ĥभाव 
पड़गेा?  

16. During a recession, which monetary policy measure should the RBI take to encourage economic 
growth? 

मंदȣ के दौरान, आͬथ[क ͪवकास को Ĥो×साǑहत करने के ͧलए आरबीआई को कौन सा मौǑġक 
नीǓत उपाय अपनाना चाǑहए? 

17. A sharp increase in inflation has led RBI to change a key policy rate. Which rate is most likely to 
be changed first? 

मुġाèफȧǓत मɅ तीĭ वɮृͬध के कारण आरबीआई ने एक Ĥमुख नीǓत दर मɅ पǐरवत[न ͩकया। सबसे 
पहले ͩकस दर मɅ बदलाव ͩकया जाएगा? 

18. A country is facing a severe financial crisis, and its central bank decides to increase money 
supply. Which tool should it use? 

एक देश गंभीर ͪवƣीय संकट का सामना कर रहा है, और इसका कɅ ġȣय बɇक मुġा आपूǓत [ बढ़ाने 
का Ǔनण[य लेता है। उसे कौन सा उपकरण उपयोग करना चाǑहए? 

19. Which tool should the RBI use to control excessive speculation in the stock market? 

शयेर बाजार मɅ अ×यͬधक सɪटेबाजी को Ǔनयंǒğत करने के ͧलए आरबीआई को कौन सा 
उपकरण उपयोग करना चाǑहए? 

20. Which credit control measure is most effective during periods of high inflation? 

उÍच मुġाèफȧǓत के दौरान कौन सा साख Ǔनयंğण उपाय सबसे Ĥभावी होता है? 
 

 

y?kq mRRkjh; iz”u  (Short answer questions 2 Marks) 
 

1. What would happen if an economy completely stopped using money and returned to the barter 
system? Explain with an example. 

यǑद कोई अथ[åयवèथा पूरȣ तरह से पैसे का उपयोग बंद कर दे और ͩफर से वèतु ͪवǓनमय 
Ĥणालȣ मɅ लौट आए तो Èया होगा? एक उदाहरण सǑहत समझाइए। 

2. "Money is a medium of exchange as well as a measure of value." Justify the statement. 

"मुġा ͪवǓनमय का माÚयम होने के साथ-साथ मूãय कȧ माप भी है।" इस कथन को सहȣ 
ठहराइए। 

3. Explain how the introduction of digital currency (like CBDC in India) affects the functions of 
money. 

ͫडिजटल मुġा (जैसे भारत मɅ सीबीडीसी) कȧ शुǽआत मुġा के कायɟ को कैसे Ĥभाͪवत करती है? 
4. Differentiate between M1 and M2 measures of money supply. 

मुġा आपूǓत [ के M1 और M2 मापɉ मɅ अतंर èपçट कȧिजए। 
5. Suppose the government increases the cash reserve ratio (CRR). How will this impact the money 

supply in the economy? 
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मान लȣिजए ͩक सरकार नकद आरͯ¢त अनुपात (CRR) बढ़ा देती है। इससे अथ[åयवèथा मɅ मुġा 
आपूǓत [ पर Èया Ĥभाव पड़गेा? 

6. How does an increase in demand deposits in commercial banks affect the total money supply? 

वाͨणिÏयक बɇकɉ मɅ मांग जमा (ͫडमांड ͫडपॉिज़ट) मɅ वɮृͬध कुल मुġा आपूǓत [ को कैसे Ĥभाͪवत 
करती है? 

7. "Commercial banks have the power to create money." Explain with the help of a numerical 
example. 

"वाͨणिÏयक बɇकɉ मɅ मुġा सजृन करने कȧ शिÈत होती है।" इसे एक संÉया×मक उदाहरण सǑहत 
समझाइए। 

8. A bank has a total deposit of ₹10,000 crores, and the Reserve Bank of India has set the CRR at 
10%. Calculate the amount of money the bank can lend out. 

एक बɇक के पास कुल जमा ₹10,000 करोड़ है, और भारतीय ǐरज़व[ बɇक ने CRR 10% Ǔनधा[ǐरत 
ͩकया है। गणना कȧिजए ͩक बɇक ͩकतना ऋण दे सकता है। 

9. Why does money creation by banks depend on the reserve ratio? 

बɇकɉ ɮवारा मुġा सजृन आरͯ¢त अनुपात पर Èयɉ Ǔनभ[र करता है? 
10. How does the Reserve Bank of India act as the banker to the government? 

भारतीय ǐरज़व[ बɇक सरकार के बɇकर के Ǿप मɅ कैसे काय[ करता है? 
11. Explain the role of the RBI as the lender of last resort. 

भारतीय ǐरज़व[ बɇक को "अǓंतम शरण ऋणदाता" Èयɉ कहा जाता है? 
12. "The central bank has monopoly over issuing currency." Justify this statement with reference to 

the RBI. 

"कɅ ġȣय बɇक को मुġा जारȣ करने का एकाͬधकार ĤाÜत है।" इस कथन को भारतीय ǐरज़व[ बɇक के 
संदभ[ मɅ उͬचत ठहराइए। 

13. If the RBI increases the bank rate, how will it affect lending by commercial banks? 

यǑद भारतीय ǐरज़व[ बɇक बɇक दर बढ़ा देता है, तो इसका वाͨणिÏयक बɇकɉ ɮवारा ऋण देने पर 
Èया Ĥभाव पड़गेा? 

14. How does an increase in the Statutory Liquidity Ratio (SLR) affect the money supply? 

वैधाǓनक तरलता अनुपात (SLR) मɅ वɮृͬध मुġा आपूǓत [ को कैसे Ĥभाͪवत करती है? 
15. Explain how the Reserve Bank of India uses open market operations to control inflation. 

भारतीय ǐरज़व[ बɇक खलुे बाज़ार पǐरचालन (OMO) का उपयोग मुġाèफȧǓत को Ǔनयंǒğत करने के 
ͧलए कैसे करता है? 

16. If the RBI reduces the repo rate, what impact will it have on the economy? 

यǑद भारतीय ǐरज़व[ बɇक रेपो दर को कम कर देता है, तो इसका अथ[åयवèथा पर Èया Ĥभाव 
पड़गेा? 

17. A business owner wants to take a loan, but the reverse repo rate is high. How might this affect 
his borrowing decision? 

एक åयवसायी ऋण लेना चाहता है, लेͩकन ǐरवस[ रेपो दर अͬधक है। यह उसके ऋण लेने के 
Ǔनण[य को कैसे Ĥभाͪवत कर सकता है? 
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18. Differentiate between Repo Rate and Reverse Repo Rate. 

रेपो दर और ǐरवस[ रेपो दर मɅ अतंर èपçट कȧिजए। 
19. How does increasing the margin requirement help control speculative activities in the stock 

market? 

मािज[न आवæयकता बढ़ाने से शयेर बाजार मɅ सɪटा गǓतͪवͬधयɉ को Ǔनयंǒğत करने मɅ कैसे 
मदद ͧमलती है? 

20. If the RBI decreases the margin requirement for loans, what effect will it have on investment in 
the economy? 

यǑद भारतीय ǐरज़व[ बɇक ऋणɉ के ͧलए मािज[न आवæयकता को कम कर देता है, तो इसका 
अथ[åयवèथा मɅ Ǔनवेश पर Èया Ĥभाव पड़गेा? 

 

y?kq mRRkjh; iz”u  (Short answer questions (03 Marks) 
 

Q1. How does money solve the problem of the "double coincidence of wants" in a barter system? 
Explain with an example. 

मुġा वèतु-ͪवǓनमय Ĥणालȣ मɅ "दोहरे संयोग कȧ समèया" को कैसे हल करती है? एक उदाहरण 
सǑहत èपçट करɅ। 

Q2. Why is money considered the most liquid asset? Explain with reference to its primary function. 

मुġा को सबसे तरल पǐरसंपͪƣ Èयɉ माना जाता है? इसके Ĥाथͧमक काय[ के संदभ[ मɅ समझाएँ। 
Q3. Explain how money serves as a standard of deferred payment. Give an example. 

मुġा को èथͬगत भुगतान का मानक कैसे माना जाता है? एक उदाहरण दɅ। 
Q4. A farmer wants to sell wheat and buy a tractor. How does the use of money simplify this 

transaction? Explain. 

एक ͩकसान गेहँू बेचना चाहता है और ĚैÈटर खरȣदना चाहता है। मुġा का उपयोग इस लेन-देन 
को कैसे सरल बनाता है? समझाएँ। 

Q5. How do demand deposits in commercial banks contribute to the money supply? Explain with an 
example. 

वाͨणिÏयक बɇकɉ मɅ मांग जमा मुġा कȧ आपूǓत [ मɅ कैसे योगदान देती है? एक उदाहरण सǑहत 
समझाएँ। 

Q6. If the public withdraws a large amount of cash from banks, how will it affect the money supply? 

यǑद जनता बɇकɉ से बड़ी माğा मɅ नकदȣ Ǔनकालती है, तो इसका मुġा आपूǓत [ पर Èया Ĥभाव 
पड़गेा? 

Q7. Given that the money supply consists of both currency and demand deposits, what impact does 
an increase in bank deposits have on the overall money supply? 

चूँͩक मुġा आपूǓत [ मɅ मुġा और मांग जमा दोनɉ शाͧमल हɇ, तो बɇक जमाओं मɅ वɮृͬध का समĒ 
मुġा आपूǓत [ पर Èया Ĥभाव पड़गेा? 

Q8. Suppose the Reserve Bank of India (RBI) lowers the Cash Reserve Ratio (CRR). How will it 
affect the money creation process? 
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मान लȣिजए ͩक भारतीय ǐरज़व[ बɇक (RBI) नकद आरͯ¢त अनुपात (CRR) को कम करता है। 
इसका मुġा सजृन ĤͩĐया पर Èया Ĥभाव पड़गेा? 

Q9. A bank receives a deposit of ₹10,000, and the reserve ratio is 20%. How much total money can 
the bank create through the money multiplier process? Show calculations. 

एक बɇक को ₹10,000 कȧ जमा ĤाÜत होती है, और आरͯ¢त अनुपात 20% है। मġुा गुणक ĤͩĐया 
के माÚयम से बɇक कुल ͩकतनी मुġा सिृजत कर सकता है? गणना सǑहत उƣर दɅ। 

Q10. The Reserve Bank of India acts as a "lender of last resort." Explain its significance for the 
banking system. 

भारतीय ǐरज़व[ बɇक "अǓंतम आĮयदाता" के Ǿप मɅ काय[ करता है। यह बɇͩ कंग Ĥणालȣ के ͧलए 
Èयɉ मह×वपूण[ है? 

Q11. Why is the Reserve Bank of India called the "Bank of Issue"? What impact does its control over 
currency issuance have on the economy? 

भारतीय ǐरज़व[ बɇक को "मुġा जारȣ करने वाला बɇक" Èयɉ कहा जाता है? मुġा Ǔनग[म पर उसके 
Ǔनयंğण का अथ[åयवèथा पर Èया Ĥभाव पड़ता है? 

Q12. A country is facing high inflation. What monetary policy measures can the central bank take to 
control inflation? Explain. 

एक देश को उÍच मुġाèफȧǓत का सामना करना पड़ रहा है। इसे Ǔनयंǒğत करने के ͧलए कɅ ġȣय 
बɇक कौन-से मौǑġक उपाय कर सकता है? समझाएँ। 

Q13. How does an increase in the Bank Rate affect credit creation in the economy? 

बɇक दर मɅ वɮृͬध अथ[åयवèथा मɅ साख Ǔनमा[ण को कैसे Ĥभाͪवत करती है? 
Q14. Explain how changes in the Statutory Liquidity Ratio (SLR) impact the lending capacity of 

commercial banks. 

सांͪवͬधक तरलता अनुपात (SLR) मɅ पǐरवत[न वाͨणिÏयक बɇकɉ कȧ उधार देने कȧ ¢मता को 
कैसे Ĥभाͪवत करता है? 

Q15. The RBI decides to increase the Cash Reserve Ratio (CRR). How will this decision affect 
commercial banks' ability to lend? 

यǑद RBI नकद आरͯ¢त अनुपात (CRR) बढ़ाने का Ǔनण[य लेता है, तो इसका वाͨणिÏयक बɇकɉ 
कȧ उधार देने कȧ ¢मता पर Èया Ĥभाव पड़गेा? 

Q16. Suppose the RBI lowers the Repo Rate. How will it impact investment and economic growth? 

मान लȣिजए ͩक RBI रेपो दर कम करता है। इसका Ǔनवेश और आͬथ[क वɮृͬध पर Èया Ĥभाव 
पड़गेा? 

Q17. How does an increase in Reverse Repo Rate help the RBI control excess liquidity in the 
banking system? 

ǐरवस[ रेपो दर मɅ वɮृͬध RBI को बɇͩ कंग Ĥणालȣ मɅ अǓतǐरÈत तरलता को Ǔनयंǒğत करने मɅ कैसे 
मदद करती है? 

Q18. The Reserve Bank of India adopts Open Market Operations (OMO). How does selling 
government securities in the market influence money supply? 
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भारतीय ǐरज़व[ बɇक खुले बाजार कȧ ĤͩĐयाओं को अपनाता है। यǑद वह सरकारȣ ĤǓतभǓूतयाँ 
बेचता है, तो इसका मुġा आपूǓत [ पर Èया Ĥभाव पड़गेा? 

Q19. The RBI increases margin requirements for loans against stocks. How does this affect 
speculative activities in the stock market? 

यǑद RBI शयेरɉ के ͪवǽɮध ऋण के ͧलए मािज[न आवæयकताओं को बढ़ाता है, तो इसका शयेर 
बाजार मɅ सɪटा गǓतͪवͬधयɉ पर Èया Ĥभाव पड़गेा? 

Q20. How can the RBI use Open Market Operations to manage inflation? Explain with an example. 

RBI खुले बाजार कȧ ĤͩĐयाओं का उपयोग मुġाèफȧǓत को Ĥबंͬधत करने के ͧलए कैसे कर 
सकता है? एक उदाहरण सǑहत समझाए।ँ 

 
 

y?kq mRRkjh; iz”u  (Short answer questions (03 Marks) 
 

1. Explain the significance of money in an economy. How does it overcome the limitations of 
the barter system? 

पैसे कȧ अथ[åयवèथा मɅ Èया महǂव है? यह वèतु ͪवǓनमय Ĥणालȣ कȧ सीमाओं को कैसे दरू 
करता है? 

2. With the help of a diagram, explain the different functions of money in an economy. 

एक ͬचğ कȧ सहायता से अथ[åयवèथा मɅ मुġा के ͪवͧभÛन कायɟ को समझाइए। 
3. Money is considered as a medium of exchange, a unit of account, a store of value, and a 

standard of deferred payment. Explain how these functions contribute to economic 
stability. 

मुġा ͪवǓनमय का माÚयम, लेखांकन कȧ इकाई, मूãय का भंडार, और èथͬगत भुगतान का मानक 
माना जाता है। समझाइए ͩक ये काय[ आͬथ[क िèथरता मɅ कैसे योगदान देते हɇ। 

4. How do the currency held by the public and net demand deposits held by commercial 
banks determine the money supply in an economy? 

साव[जǓनक Ǿप से धारण कȧ गई मुġा और वाͨणिÏयक बɇकɉ मɅ रखी गई शुɮध मांग जमा ͩकसी 
अथ[åयवèथा मɅ धन कȧ आपूǓत [ को कैसे Ǔनधा[ǐरत करते हɇ? 

5. Suppose the central bank increases the statutory liquidity ratio (SLR). How will this affect 
the money supply in the economy? Explain with logic. 

मान लȣिजए ͩक कɅ ġȣय बɇक वैधाǓनक तरलता अनुपात (SLR) को बढ़ाता है। यह अथ[åयवèथा मɅ 
मुġा आपूǓत [ को कैसे Ĥभाͪवत करेगा? तक[  सǑहत समझाइए। 

6. A developing economy like India needs an optimal money supply. Discuss the role of 
central banks in maintaining the appropriate money supply. 

भारत जसैी ͪवकासशील अथ[åयवèथा को इçटतम मुġा आपूǓत [ कȧ आवæयकता होती है। कɅ ġȣय 
बɇक कȧ भूͧमका को èपçट कȧिजए। 

7. Explain the process of credit creation by commercial banks using a numerical example. 

वाͨणिÏयक बɇकɉ ɮवारा साख सजृन कȧ ĤͩĐया को संÉया×मक उदाहरण के साथ समझाइए। 

8. If the Cash Reserve Ratio (CRR) is reduced by the central bank, what will be its impact on 
money creation by commercial banks? 
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यǑद कɅ ġȣय बɇक नकद आरͯ¢त अनुपात (CRR) को कम करता है, तो वाͨणिÏयक बɇकɉ ɮवारा 
मुġा सजृन पर इसका Èया Ĥभाव पड़गेा? 

9. How does the money multiplier work in the process of money creation? Explain with a 
suitable illustration. 

मुġा सजृन कȧ ĤͩĐया मɅ मुġा गुणक कैसे काय[ करता है? उपयुÈत उदाहरण के साथ समझाइए। 

10. The Reserve Bank of India plays the role of the "Bank of Issue." Explain this function with 
suitable examples. 

भारतीय ǐरजव[ बɇक "नोट Ǔनग[मन बɇक" कȧ भूͧमका Ǔनभाता है। इस काय[ को उपयुÈत उदाहरणɉ 
सǑहत समझाइए। 

11. Discuss the role of the Reserve Bank of India as the banker to the government. 

सरकार के बɇकर के Ǿप मɅ भारतीय ǐरजव[ बɇक कȧ भूͧमका पर चचा[ कȧिजए। 
12. The Reserve Bank of India is called the 'lender of last resort.' Explain why this role is 

crucial for financial stability. 

भारतीय ǐरजव[ बɇक को "अǓंतम शरण ऋणदाता" कहा जाता है। यह भूͧमका ͪवƣीय िèथरता के 
ͧलए Èयɉ मह×वपूण[ है? 

13. How does the Reserve Bank of India control the credit supply in the economy using 
quantitative instruments like Bank Rate, CRR, SLR, Repo Rate, and Reverse Repo Rate? 

भारतीय ǐरजव[ बɇक ͩकस Ĥकार बɇक दर, CRR, SLR, रेपो दर और ǐरवस[ रेपो दर जैसी माğा×मक 
उपकरणɉ का उपयोग करके अथ[åयवèथा मɅ ऋण आपूǓत [ को Ǔनयंǒğत करता है? 

14. Explain how the Cash Reserve Ratio (CRR) and Statutory Liquidity Ratio (SLR) influence 
commercial banks' lending capacity. 

नकद आरͯ¢त अनुपात (CRR) और वैधाǓनक तरलता अनुपात (SLR) वाͨणिÏयक बɇकɉ कȧ ऋण 
देने कȧ ¢मता को कैसे Ĥभाͪवत करते हɇ? 

15. Illustrate with a diagram how Open Market Operations (OMO) help in controlling 
inflation. 

एक ͬचğ के माÚयम से èपçट कȧिजए ͩक खुले बाजार कȧ ĤͩĐयाओं  मुġाèफȧǓत को Ǔनयंǒğत 
करने मɅ कैसे सहायक होते हɇ। 
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Case Study based questions 
 
Case Study 1:  
 
Ravi is a farmer in a small village. Earlier, he used to barter wheat for other goods, but he often faced 
difficulties. For example, when he needed a plow, the blacksmith was not interested in wheat but 
wanted milk instead. When a bank opened in his village, he started using money for transactions, 
making trade much easier. 
Now, Ravi deposits his earnings in a savings account and withdraws cash when needed. He also takes 
short-term loans from the bank for farming. 

रͪव एक छोटे से गाँव मɅ ͩकसान है। पहले वह वèतु-ͪवǓनमय Ĥणालȣ (barter system) के माÚयम स े
गेहँू के बदले अÛय वèतएुँ ĤाÜत करता था, लेͩकन उसे कई कǑठनाइयाँ आती थीं। उदाहरण के ͧलए, 

जब उसे हल कȧ आवæयकता होती थी, तो लोहार गेहँू के बदले हल देने को तैयार नहȣं था, बिãक उस े
दधू चाǑहए था। लेͩकन जब गाँव मɅ बɇक खलुा, तो रͪव ने पैसɉ का उपयोग शुǾ ͩकया, िजसस ेåयापार 
करना आसान हो गया। 
अब रͪव अपनी कमाई बचत खाते मɅ जमा करता है और आवæयकता पड़ने पर नकद Ǔनकालता है। 
वह खेती के ͧलए अãपकाͧलक ऋण (short-term loan) भी लेता है। 

 
Questions / Ĥæन 

1. (2 Marks/2 अकं) Explain how money overcomes the difficulties of the barter system. 

मुġा (Money) वèतु-ͪवǓनमय Ĥणालȣ कȧ कǑठनाइयɉ को कैसे दरू करती है, समझाइए। 
2. (1 Mark/1 अकं) Identify two primary functions of money. 

मुġा के दो Ĥमुख कायɟ कȧ पहचान करɅ। 
3. (1 Mark/1 अकं) Which function of money allows Ravi to store wealth for future use? 

वह कौन-सा मौǑġक काय[ है जो रͪव को भͪवçय के ͧलए संपͪƣ संͬचत करने कȧ सुͪवधा देता 
है? 

4. (1 Mark/1 अकं) What is meant by the term "medium of exchange"? 

"ͪवǓनमय का माÚयम" का Èया अथ[ है? 

 
 
Case Study 2:  
 
The Reserve Bank of India (RBI) releases data on money supply regularly. Recently, it was observed 
that the total currency with the public increased significantly, while bank deposits remained stable. 
Experts predict that such an increase may lead to inflation. 
To regulate money supply, RBI can take various steps, including adjusting the Cash Reserve Ratio 
(CRR) and Statutory Liquidity Ratio (SLR). 
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भारतीय ǐरज़व[ बɇक (RBI) Ǔनयͧमत Ǿप से मुġा आपूǓत [ से संबंͬधत डटेा जारȣ करता है। हाल हȣ मɅ 
देखा गया ͩक जनता के पास कुल मुġा (currency) मɅ काफȧ वɮृͬध हुई, जबͩक बɇक जमा िèथर बनी 
रहȣ। ͪवशषे£ɉ का अनुमान है ͩक इस वɮृͬध के कारण मुġाèफȧǓत (inflation) बढ़ सकती है। 
मुġा आपूǓत [ को Ǔनयंǒğत करने के ͧलए, भारतीय ǐरज़व[ बɇक नकद आरͯ¢त अनुपात (CRR) और 

वैधाǓनक तरलता अनुपात (SLR) जैसे ͪवͧभÛन उपाय कर सकता है। 
 

Questions / Ĥæन 

1. (2 Marks/2 अकं) Explain how an increase in money supply can lead to inflation. 

मुġा आपूǓत [ मɅ वɮृͬध मुġाèफȧǓत को कैसे Ĥभाͪवत कर सकती है, समझाइए। 
2. (1 Mark/1 अकं) What are the two main components of money supply? 

मुġा आपूǓत [ के दो मुÉय घटक कौन-कौन से हɇ? 

3. (1 Mark/1 अकं) Define "Net Demand Deposits." 

"शुɮध मांग जमाएँ" को पǐरभाͪषत करɅ। 
4. (1 Mark/1 अकं) Which institution regulates the supply of money in India? 

भारत मɅ मुġा आपूǓत [ को कौन Ǔनयंǒğत करता है? 

 
 
 
Case Study 3: 
 
Rajesh deposits ₹10,000 in a bank. The bank keeps a fraction of this amount as a reserve and lends 
out the rest, leading to the creation of more money in the economy. This process is called credit 
creation. 
If the bank has a reserve ratio of 10%, it means it can lend out ₹9,000 from Rajesh’s deposit. The 
borrower then deposits this amount in another bank, which repeats the process. This leads to multiple 
expansions of money in the economy. 

राजेश बɇक मɅ ₹10,000 जमा करता है। बɇक इस राͧश का एक भाग आरͯ¢त रखता है और शषे राͧश 
को ऋण के Ǿप मɅ ͪवतǐरत करता है, िजसस ेअथ[åयवèथा मɅ अͬधक धन का Ǔनमा[ण होता है। इस 
ĤͩĐया को साख Ǔनमा[ण (credit creation) कहा जाता है। 
यǑद बɇक का आरͯ¢त अनुपात (reserve ratio) 10% है, तो वह राजेश कȧ जमा राͧश मɅ से ₹9,000 

ऋण दे सकता है। ͩफर, यह उधार लȣ गई राͧश ͩकसी अÛय बɇक मɅ जमा होती है, और यहȣ ĤͩĐया 
बार-बार दोहराई जाती है, िजसस ेअथ[åयवèथा मɅ मुġा का बहु-ͪवèतार (money multiplier effect) होता 
है। 

 
 
 

Questions / Ĥæन 
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1. (2 Marks/2 अकं) Explain how banks create money using the credit creation process. 

बɇक साख Ǔनमा[ण ĤͩĐया का उपयोग करके मुġा कȧ वɮृͬध कैसे करते हɇ, समझाइए। 
2. (1 Mark/1 अकं) What happens if the reserve ratio is increased? 

यǑद आरͯ¢त अनुपात बढ़ा Ǒदया जाए तो Èया Ĥभाव होगा? 

3. (1 Mark/1 अकं) Name the term used for multiple expansions of money. 

मुġा के बहु-ͪवèतार कȧ ĤͩĐया को Èया कहा जाता है? 

4. (1 Mark/1 अकं) Which component of money supply is affected by credit creation? 

साख Ǔनमा[ण से मुġा आपूǓत [ का कौन-सा घटक Ĥभाͪवत होता है? 

 
 
 
Case Study 4: 
 
The Reserve Bank of India (RBI) acts as the issuer of currency, banker to the government, and 
banker to commercial banks. During the COVID-19 pandemic, RBI reduced the repo rate and 
reverse repo rate to support the economy. 
Additionally, RBI uses instruments like Open Market Operations (OMO), CRR, and SLR to 
control liquidity in the financial system. 

भारतीय ǐरज़व[ बɇक (RBI) मुġा जारȣकता[, सरकार का बɇक और वाͨणिÏयक बɇकɉ का बɇक के Ǿप मɅ 
काय[ करता है। COVID-19 महामारȣ के दौरान, RBI ने रेपो दर (Repo Rate) और ǐरवस[ रेपो दर 
(Reverse Repo Rate) को कम ͩकया ताͩक अथ[åयवèथा को समथ[न ͧमल सके। 
इसके अलावा, RBI खुले बाजार कȧ ĤͩĐयाओं (OMO), CRR और SLR जैसे उपकरणɉ का उपयोग 
करके ͪवƣीय Ĥणालȣ मɅ तरलता को Ǔनयंǒğत करता है। 

 
Questions / Ĥæन 

1. (2 Marks/2 अकं) Explain the role of RBI in controlling inflation and liquidity in the 
economy. 

भारतीय ǐरज़व[ बɇक कȧ मुġाèफȧǓत और तरलता को Ǔनयंǒğत करने मɅ Èया भूͧमका होती है, 

समझाइए। 
2. (1 Mark/1 अकं) What is the full form of CRR? 

CRR का पूरा नाम Èया है? 

3. (1 Mark/1 अकं) Which instrument does RBI use to control credit? 

भारतीय ǐरज़व[ बɇक कौन सा उपकरण उपयोग करता है िजससे साख Ǔनयंğण ͩकया जा सके? 

4. (1 Mark/1 अकं) What happens when RBI increases the repo rate? 

जब भारतीय ǐरज़व[ बɇक रेपो दर बढ़ाता है, तो Èया Ĥभाव पड़ता है? 
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Case Study 5:  
 
To stabilize the economy, RBI buys and sells government securities in the open market. Recently, 
RBI sold government bonds worth ₹50,000 crore to reduce excess liquidity in the market. This is an 
example of Open Market Operations (OMO), a tool used for credit control. 
Similarly, RBI adjusts Margin Requirements, which influence how much banks can lend against 
securities. 

अथ[åयवèथा को िèथर बनाए रखने के ͧलए, भारतीय ǐरज़व[ बɇक (RBI) खुले बाजार मɅ सरकारȣ 
ĤǓतभǓूतयाँ खरȣदता और बेचता है। हाल हȣ मɅ, RBI ने ₹50,000 करोड़ कȧ सरकारȣ ĤǓतभǓूतयाँ बेचीं 
ताͩक बाजार मɅ अǓतǐरÈत तरलता को कम ͩकया जा सके। यह खुले बाजार कȧ ĤͩĐयाओं (Open 

Market Operations - OMO) का एक उदाहरण है, िजसका उपयोग साख Ǔनयंğण के ͧलए ͩकया 
जाता है। 
इसी Ĥकार, RBI मािज[न आवæयकताओं (Margin Requirements) को समायोिजत करता है, जो यह 
Ǔनधा[ǐरत करता है ͩक बɇक ĤǓतभǓूतयɉ के ͪवǽɮध ͩकतना ऋण दे सकते हɇ। 

 
Questions / Ĥæन 

1. (2 Marks/2 अकं) How do Open Market Operations help in controlling credit in the economy? 

खुले बाजार कȧ ĤͩĐयाए (OMO) अथ[åयवèथा मɅ साख Ǔनयंğण मɅ कैसे मदद करती है? 

2. (1 Mark/1 अकं) What happens to money supply when RBI sells government securities? 

जब भारतीय ǐरज़व[ बɇक सरकारȣ ĤǓतभǓूतयाँ बेचता है, तो मġुा आपूǓत [ पर Èया Ĥभाव पड़ता 
है? 

3. (1 Mark/1 अकं) What is the effect of increasing margin requirements? 

मािज[न आवæयकताओं मɅ वɮृͬध का Èया Ĥभाव होता है? 

4. (1 Mark/1 अकं) What is the difference between Repo Rate and Reverse Repo Rate? 

रेपो दर और ǐरवस[ रेपो दर मɅ Èया अतंर है? 

 
 

----- 


